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import android.app.Activity;
import android.os.Bundle;
import android.util.Log;
import android.view.MotionEvent;
import java.util. TimerTask;
import java.util.*;
public class myTouchEvent_3 extends Activity {
floatX =0;
floatY = 0;
float Xs[] = new float[50];
float Ys[] = new float[50];
int count = 0,num = 0;
boolean stop = true;
TimerTask task = new TimerTask(){
public void run(){
if(count < 50 && !stop){
Xs[count] =X;
Ys[count] =Y;

count++;
}
}
%
Timer timer = new Timer();
@Override

public void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
timer.schedule(task,0,50);
setContentView(R.layout.activity_main);

}
@Override
public boolean onTouchEvent(MotionEvent event){
X = event.getX();
Y = event.getY();
String action 5
switch(event.getAction() & MotionEvent. ACTION_MASK) {
case MotionEvent. ACTION_DOWN:
action = "Down";
stop = false;
break;
case MotionEvent. ACTION_MOVE:
action = "Move";
break;
case MotionEvent. ACTION_UP:
action = "UP";
String result = "¥n";
stop = true;
for(int i=count;i<50;i++){
Xs[i] = Xs[count-1];
Ys[i] = Ys[count-1];

}

for(int i=0;i<50;i++){
result+=Xs[i]+" "+Ys[i]+" ";

}

result+="¥n";
num+=1;
Log.v("result"+num,result);
count = 0;
break;
case MotionEvent.ACTION_CANCEL:

action = "Cancel";
break;

}

return super.onTouchEvent(event);

EE 2 CTHW=7 a7 o LA

import numpy as np

import random

import math

file = np.loadtxt("sankaku10.dat",delimiter =" ")

start =0

correct_data = np.reshape(file[start],(1,file[start].shape[0]))

file = np.delete(file,start,0)

for i in range(29):
tmp=np.reshape(file[start],(1,file[start].shape[0]))
correct_data=np.concatenate((correct_data,tmp),axis=0)
file = np.delete(file,start,0)

incorrect_data = file

def teacher_correct_select(all_data):
HIERT—9 2T

all = all_data
#BER DT  HEHT — 5 DRARE

teacher_result =0

H#BEMDF9
teacher_average_result = []
#IERR
correct_result = []
#BEWT—Y

selected = random.randint(0,29)
result=np.reshape(all[selected],(1,all[selected].shape[0]))
all = np.delete(all,selected,0)
#HEZ 10 7R
for i in range(9):
selected = random.randint(0,28-1)
tmp=np.reshape(all[selected],(1,all[selected].shape[0]))
result=np.concatenate((result,tmp),axis=0)
all = np.delete(all,selected,0)
#IEfR%E 20 B3
selected = random.randint(0,19)
correct_result=np.reshape(all[selected],(1,all[selected].shape[0]))
all = np.delete(all,selected,0)
for i in range(9):
selected = random.randint(0,18-1)
tmp=np.reshape(all[selected],(1,all[selected].shape[0]))
correct_result=np.concatenate((correct_result,tmp),axis=0)
all = np.delete(all,selected,0)
HEEID ¥
teacher_average_result=result[9]
for i in range(9):
teacher_average_result=teacher_average_result+result[i]
teacher_average_result=teacher_average_result/10
#HEDRK
for i in range(10):
tmp = abs(teacher_average_result-result[i])
tmp=tmp*tmp
tmp=np.sum(tmp)
tmp=math.sqrt(tmp)
if tmp>teacher_result:
teacher_result=tmp
return (teacher_result,teacher_average_result,correct_result)

def incorrect_select(all_data):

all = all_data

result =[]

for i in range(20):
selected = random.randint(0,29-1)
result=np.append(result,all[selected])
all = np.delete(all,selected,0)

return result

correct_count = 0.
incorrect_count = 0.

for i in range(1000):
teacher,average,correct = teacher_correct_select(correct_data)
incorrect = incorrect_select(incorrect_data)
for i in range(10):
tmp = abs(average-correct[i])
tmp=tmp*tmp
tmp=np.sum(tmp)
tmp=math.sqrt(tmp)
if tmp<=teacher:
correct_count=correct_count+1
for i in range(10):
tmp = abs(average-incorrect[i])
tmp=tmp*tmp
tmp=np.sum(tmp)
tmp=math.sqrt(tmp)
if tmp>teacher:
incorrect_count=incorrect_count+1

print(correct_count/100)
print(incorrect_count/100)
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